1 SEMESTRE

2 HEURES

>H,)—Aw BLQVJA_\H_I|JL._A_'|$‘_J|1
Q‘_’—Q.ﬂtq_)_"

1/2

(L 10) Lﬁ Dy cd b i ;ij

6\

L

sl & daw -1

c=L  b=VI+VZ ; a=VIBx\Z
Dy Loy g1l il ] 22
Z R X (RE | SO S B S —WNTx+7= (=)
d=4x"-7 =7 (2x =7 ) ¢ 5kl Jas -
= 48x(107)" ¢ sl Aplal 4N Laet -3

g=(V3

0,03

:q-‘gbhqu):a‘—‘-4

32

VB+V2)3—V2) ; (3-V2)* ; (V3 +VZ )?
P TR SR

+2) 5 x (VB3-V2)P  ; =V VZ+ VB3 xVV2-3

V3 +V2 X ; »
h=:/—§-i_\/i I-)-h-“e\.laoae)di_)a.;l\uhl-c
Cuss Ol glae b 5 aq -2
-2<bh<s -1 3 25<a<35

a—>b : ab ; 2a + b o Akl

P g ol Ay oddx -6

I = (vBcosx + sinx)’ + (V8sinx — cos x)’

¥




i 15

]
-

;; -

2 25

.

9

L]

A A A A A A o PPt I

2/2| (& 10)L2L doandit AR Ja &

M PN=VI3 5 MP=6 5 MN=7 cus; i MNP

P 8 450 30 a8 MNP of 0 -1
sin M . cosM wual 22
NI cuaal s [PM] huaiic | oS3 -3

1 > - - °
Cosx = —= yabaladyy; ol x -4

Sin x <l

Cuny dnla JSal) Ll

[l

OA=4 , OD=1 5 (DC)//(AB)
AB =6 s OB=8

DE. 3. 0C__tual-<l
AE=48 <& [AB] o« E oS8-2
(DB)//(OE) ol s

111

Oasliia OAD 5 OBC o opx-1
o il sa S 235 BOC = 70° ol Lk 22
ACB s CEB O gl 50

OM = 4 &us [OB] o0 4kais M -3
Ot MBE 5 MCA o ¢ -
MCXME =20 ¢ zitiul -

o 1.5

b




